ERLNZ / Components
No. £ / Part name = / Pcs #'E / Material - RELIE / Color-Finish
1 IL—L 4 TILSHHH AB063S-T5 DIWN— , TS9Y « TILIAL & VT EE
Frame Extruded aluminium A6063S-T5 Silver , black * Anodized & clear coated
2 a—F—2JAavy 4 ABS#Hif§ UL94HB SAMTL—, TS5vH
Corner block ABS UL94HB Light gray , Black
3 3—F—3+v 7 / Blind plug 8 ISRkY / TPE 54T L—, T5v% / Light gray , Black
4 INAAFHINTR)L / Slide panel 1 7 JLEHR / Aluminium A1100P t=1.5 D IIN—=TF LA / Silver = Anodized
7 ILEHR / Aluminium A1100P t=1.5 J5v% « % / Black * Painted
® 5 1 CIE®H/XFJL / Screwed panel 1 7 ILEHR / Aluminium A1100P t=1.5 D IIN—=TF LA / Silver * Anodized
7 ILEFR / Aluminium A1100P t=1.5 T5v% « B% / Black * Painted
6 MAE R (M4 x 15 FR) 16 E7S ={foOir—k
Screw (M4 - 15 Pan head) Steel Trivalent chromate
7 ERATE R (M3 x 5 FE{F 3L ) 4 &% —wlr)LAvE | ZmE/RA—+
Screw (M3 - 5 Slotted raised countersunk) Steel Nickel plated , Black trivalent chromate
)
Q@
=
N
AN
3 )
mn/Title A —1
TAKACHI| HRXSHINWFERIE Qv kO—LRYH R @ L
Bk (BBERED) / Color Type (End of product number[]) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
B 2 — —_ _ =
AL / Code AL )l/ / Panel L A / Freme - j_ / Corner 7K &8/Approved 1% &/ Checked HEY/Created #4F /Product number RE/Scale
GS < )L7S— / Silver < )LsN— / Silver SA4kJ'L— / Light gray 1:2.5
BS 2 )Ls8— / Silver 2 JLsN—/ Silver 735v% / Black . " FC6-30-2001
B X SIS —/ Siver 5597 / Black 5594 / Black R AL R - 1/ 7
BB 55v% / Black 5% / Black J5v% / Black fERLE/Date 2020/12/01




1R , NfR[X / External View , Internal View

JL—L14l] / Framel side

L —L348] / Frame3 side

LN

200
>
|
ﬂ
H
I
I
|
|

L —L248] / Frame2 side

A-A(1:3)
INAAFHINRILEZNT % / Slide panel Max dim. 260

B3h~TiE / Max dim. 254

25.7

RLEESH/NRILEZN~T %/ Screwed panel Max dim. 254

TL—L448] / Frame4 side

62.9

B-B(1:3)

EH#~Ti% / Max dim. 56.5

$1~F ;% / Slide panel Max dim. 160

<t

Lo

£

=

X

©

=

~

H

1R 17‘

T =

2 T
N
op
~
BN
<
A
”~
~

25.7

it

e

%'ELIO

RCIESH/SRILEZNTi% / Screwed panel Max dim. 154

C : 7L—LYLEKE / Frame cross—section

FwkL—JL / Nut rail

ATARFyhRiE

RBFEA T av i RSARF Uk FZ-3 E ANSENEEET,
Groove for slide nut

Slide nut FZ-3 (sold separately as optional parts) can be inserted.

BRARUINTFEHITE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
arvka—JLARYIR
ALUMINIUM CONTROL BOX

o]

752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
FC6-30-20C] 13
KL AN 9 /7
{YER B /Date 2017/06/19




405
1.2

8.7

18.1

1.65

18.1

8.7
45
25

19.7

4 13.7
8.2

°1 18
" 5.7
2
=
9 13.7

22.7

14.7

61.9

14.7

4-M4

F+wkL—JL / Nut rail

44.24

N &

JL—L1 / Framel

2

D

-

254

mnda/Title
TAKACHI| #RARHINFERTE TIL— L1 @ ‘:l
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame1
7K ER/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
H62.9 - W300 1:2
3 i
XiL Al 3, 7

{ERL B /Date 2017/06/19




o

Q/

(2

N &

JL—L2 / Frame2

2

D

-

mn/Title
TAKACHI| #RARHINFERTE SL—1a2 @ ‘:l
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame2
7K ER/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
H62.9 - W300 12
XL w1l
4 /7

{ERL B /Date 2017/06/19




4.05
1.2

8.7

18.1

1.65

18.1

8.7
45
2.5

19.7 2L —L3 / Frame3

4 13.7 154
8.2
53} ~ _
<+
N i fﬂ
[ ) |
s .
| 5.7 © 3
C\\I 7 T ——
:Il. N\ ~ \0
Ef} <

9 13.7
4-M4
22.7
FwkL—JL / Nut rail
< ° o
M3 5 144 5

4/ Title

MR SHINTEHTE SL— 143 O]

TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H62.9 - D200 115
KL AN 5 /7
{YER B /Date 2017/06/19




JL—L\4 / Frame4

4/ Title
MR SHINTEHTE SL— L4 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame4
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H62.9 - D200 1S
KL &Il
{ER B /Date 2017/06/19 6 /7




1R , NfR[X / External View , Internal View

JL—L14l] / Framel side

L —L348] / Frame3 side

LN

200
>
|
ﬂ
H
I
I
|
|

L —L248] / Frame2 side

A-A(1:3)
INAAFHINRILEZNT % / Slide panel Max dim. 260

B3h~TiE / Max dim. 254

25.7

RLEESH/NRILEZN~T %/ Screwed panel Max dim. 254

TL—L448] / Frame4 side

62.9

B-B(1:3)

EH#~Ti% / Max dim. 56.5

$1~F ;% / Slide panel Max dim. 160

<t

Lo

£

=

X

©

=

~

H

1R 17‘

T =

2 T
N
op
~
BN
<
A
”~
~

25.7

it

e

%'ELIO

RCIESH/SRILEZNTi% / Screwed panel Max dim. 154

C : 7L—LYLEKE / Frame cross—section

FwkL—JL / Nut rail

ATARFyhRiE

RBFEA T av i RSARF Uk FZ-3 E ANSENEEET,
Groove for slide nut

Slide nut FZ-3 (sold separately as optional parts) can be inserted.

BRARUINTFEHITE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
arvka—JLARYIR
ALUMINIUM CONTROL BOX

o]

752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
FC6-30-20C] 13
KL AN 9 /7
{YER B /Date 2017/06/19




405
1.2

8.7

18.1

1.65

18.1

8.7
45
25

19.7

4 13.7
8.2

°1 18
" 5.7
2
=
9 13.7

22.7

14.7

61.9

14.7

4-M4

F+wkL—JL / Nut rail

44.24

N &

JL—L1 / Framel

2

D

-

254

mnda/Title
TAKACHI| #RARHINFERTE TIL— L1 @ ‘:l
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame1
7K ER/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
H62.9 - W300 1:2
3 i
XiL Al 3, 7

{ERL B /Date 2017/06/19




o

Q/

(2

N &

JL—L2 / Frame2

2

D

-

mn/Title
TAKACHI| #RARHINFERTE SL—1a2 @ ‘:l
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame2
7K ER/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
H62.9 - W300 12
XL w1l
4 /7

{ERL B /Date 2017/06/19




4.05
1.2

8.7

18.1

1.65

18.1

8.7
45
2.5

19.7 2L —L3 / Frame3

4 13.7 154
8.2
53} ~ _
<+
N i fﬂ
[ ) |
s .
| 5.7 © 3
C\\I 7 T ——
:Il. N\ ~ \0
Ef} <

9 13.7
4-M4
22.7
FwkL—JL / Nut rail
< ° o
M3 5 144 5

4/ Title

MR SHINTEHTE SL— 143 O]

TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H62.9 - D200 115
KL AN 5 /7
{YER B /Date 2017/06/19




JL—L\4 / Frame4

4/ Title
MR SHINTEHTE SL— L4 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame4
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H62.9 - D200 1S
KL &Il
{ER B /Date 2017/06/19 6 /7




B ~ti% / Max dim. 160

B~k / Max dim. 154

INAAFHINHJL / Slide panel

Bt / Max dim. 260

JI\NAJLZRE /Panel Frontside

RLLEH/SRIL / Screwed panel

H#~ti% / Max dim. 254

.

O

O

O

J

I\ JLFE/Panel Frontside

fREEL—MA

Surface protective film side

REE—MAY

Surface protective film side

15 271.9
o
~
/I\AJLEEE /Panel Backside
2715
15 4-242
244
-— o ™\
L N
= 2
_° o,
/\FJ)LEE/Panel Backside
A /Title
TAKACHI| %A INWFERIE ISR C}[:]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
7 &R/ Approved 1#[X]/Checked #X/Created R /Product number RE/Scale
W300 - D200 125
hif KT Ll .
1R A /Date 2020/07/10




